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For Honours Generic :
Answer the Qnestions from any one Option.

OPTION - A

{Geography of India with reference to
" N-E India)

a " Paper : GGY-HG-4016

o . _OPTION-B

- Popu!atfon and Settlement Geography }
' - Paper : GGY-HG-4026

e - For Regular o _
{ Geogruphy of India with _reference to
o - -NeE India) =~ '
| - Paper : GGY~RC-4016

e - Full Marks.: 60
B - " Time : Three hours

The figures in the margin indicate

- Jull marks for the questions.

- Answer either in English or in Assamese, .
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1. Answer the mo:cﬁsm_og.onnﬁo-a%o nnammo:m :
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fa) What is the standard meridian of
India? |
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(b} What is 9@ \Bﬁmy mnomﬂmww_omy E,mm 2.

India ?
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{c) Give an oxmaﬁ_o 0m msﬁnooaobﬂ Esw. in

_ India.
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i L petroleum ° reserves are available in
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Answer _&n mo:o‘ipm qﬁ% mwoﬁ mbmén?aﬁn
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fa) Which two Bocbnm_ﬂm_ wcwwocma_ India

in the North-West?

GoR mﬁﬁa%ﬂ@ﬂ%ﬂ?agm

IR?

éwmn 18 Bnmsn U% ._uswmﬁsm of

NE India.
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_Zmnﬁ the states of India having the

highest and the lowest density of.
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w “Answer the mozoi_sm short gmﬁnﬁ.@ﬂw.
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Give an account of the BnonEmQ oﬁ. __

“Indian mﬂgmmoﬂ Monsoon.
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Write a short note on the owm_.ﬂmoﬁozmaom |
of Indian mmﬁoEEE _

ﬂ}q@ﬂw@gﬁm@%ﬂaﬁg_

What are the significant features of the

meomﬂ Population Policy, 2000? 5
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Write a moomwmvgo& no.a on 50 mop_m_

~ of India.
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5. _ Discuss the meaning and scope of setﬂement_, :
- geography. 10
| @Fﬁﬁ?‘gfﬁﬁ%%ﬁfﬁﬁﬁﬂﬁﬂ%ﬁﬁﬁmﬂwmﬁmﬁﬂaﬂn
o . Or / qRr
m "'_DLScuss inx detall the. morphology of
. -settlernents. :
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6. _Interpret the Demographlc Transition

Theory’ in detail and examin its apphcabﬂaty
- in present day context.
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. -and pull factors of migration. = 3+7=10
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o Deﬁne mlgratlon Discuss briefly the push.
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